GB1

(xema 3nekmpuyeckas (uHKUuoHansHas 3CYA € koHmpannepom

105

ME17.9.7/Ebpo-3 dng YA3-3163 (IM3-40904.10)

4 L - Uenu coeduHeHsl € “Maccol” kysoba
o) ey AT FU1 ol AV =+ - Lenu coeduHeHsl ¢ “Maccod” dbuzamens
] = e[ Tl 7 = Un
b - o1 |2kk | 2R V1
_H_ FU2 g €127 | K-nuHust 07 | 262 s> 1
08 <—=— KA1 L 16 | Kn15" > (7
SAZ* 85 86 ®3 243 | S K Y2
- o < HHS _[—<&—{247 | 0B-GND oi |26e s <m. @/.\u SAS TS
' 30 87 _|AT M5 [Pz 1 b —H2
= N ilmm kAZ ——& 56 | +2B-pe | OBON |20 S IR \_rN IS Y3
<155 | +12B-P2 2@k — —
R “H/H>— iz | pa 0B-GNP [ 153 | ARREEAE] —ZFEgly,
0| |87 TP>F———F&213 | anka(A) | 0B-GNP |k /= Y | Lun o 1
M1 I S 7Py« {201 | ke = ,ﬁ,ﬁ ,ﬁ
4 RS g KNA |235 ) .
\ BR2 1k | 232 [5 5 3
P> = ===——"231 | ATPB Cuenn. | 136 [ <]
iy oy - ey r ﬁM¢ On i —<<f] <1
™ L 15 K3ax.-3 |25 - ¢mw_n Ve
Ue B [ =237 | 04+ Kox1 1256 H>—T<fiFm e [T mHN T e aAES (L
R e &238 | AA- &2 TVé
A B2 AT Y= B INETS S S <1
T 2 | 2lalel | ol | Oy _m [1}>—«215 | aTox K3ax.-4 |255 [ —<7] L V7
=|S|V8|8 ‘ " 27205 | OB-ATOX | k3ax.-2 |253 >« L F2 B
3[417]516]1 | [SIE1317 316171501 [ & <251 | Momop+ 7 ISN S =
A A R R R A R Y /——&1{252 | Momop- SRS
J T ol mH o mlm 7% 1t <220 | mno3-2 | CAN/NO |08 > KB
NEEENEBRARENEIRIBE —<&—207 | 0B-ANA3
<1223 | +3,3B
a CAN-H | 132 <&~ PF1 PS1
MWN@% AIMPE ) CN-L |k ] Q_._E O_._:
AR ne-mvo |13 P>~ X
<126 | +3,3B-2 : —
1M1 | Ned.2 PIBO-T 1 "30"
<106 | 0B-Ned2 | PIBO-Z |12 = |MM >
<1138 | +3,3B-1 K |53 > Um
<121 | Med.1 PMKK | 131 > />
&—105 | 0B-ed1 SA1 = SAZ*  RuT*
SAk {147 | Topu.1 T Ak _ 30"
Um & 1 €135 | Topm.2 1 TAnm. —
12 3 <{246 | Hazp.IK1 %WA¢ Hm | | P
—t | el ———— — 1230 | AK1+ <&—5 | AHm. N
Bé | ——— & 204 | K- csu_HAMw oww B| 8 %_/ &7 T
e B> | || |1 B7 [i [} €239 | Hazp.oK2 N 4 < Ww_.
ol 1l I T oz | e K-MMO [ 139 o>———&2]K-m. BP3 [
| . LOXA-MM 119 |>— 1 As =
* A _ * A F=——— & |206 | IKZ- IAXA-Cp |107 |
” T 3 2 | =+ -
el B el N _ X4 MET7-SH2




